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unseen - analogous to “differentiation method™



>
frs—

For Tutors Only - Not For Distribution

_ .o« 19 _
Lj - 3 iad 633 *11\) = ,Jﬁ \

N

\\

Wy=o, = O

C(‘Q.Q/\/\ {_V\%\\}\ bw,\\& *M)

e I

\\ C\"ﬁ’\\ ~X CC\N *Ciif’\):“ h\”’g)

\ G =o XN f

A 2]

Nx,:\ﬂub eaqt (w\f& 1) o

LEVE

oo gquend tlh a- 0@ aoae

C

o bL  api)z ) AR L e : 0T oy
L) (-0 e ot

VAR, ¥
A n=% J)U\M{) PV RN K Lcﬁ KT, =
< I o 3~ )
L L A=E ‘
: =33 3
Qe %(\“g\, e = A%e -
RT [2]

o \ dgg P ™ i
LBRTOe - AT e =

o (s sV YA
L0-38)  (6=33) [ D

elonownaslt 1y 3((~23) A (1-5) (1 3%) =\




For Tutors Only - Not For Distribution

L

(M [ &35 (9 [0

\_ [ (e

Uv) e E )

RN

ﬁ/

T

2 (T~
>

a (13) =9 ~x (-8 e’

b
-
v’

0L L8

“(1-n)g M

0csing )

\

S | o
Gl Yo \\mkolfw%ema §\V) RUY s Yen o
fal ‘ S
g= (9o L

similar to problem sheet
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new example - inhomogeneous BCs make it tricky...
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